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Questions	
   Answer	
  
	
  
	
  	
  1)	
  	
  	
  	
  	
  Average	
  9.8,	
  9.4,	
  9.6.	
  10.2	
  
	
  

	
  
	
  

	
  	
  2)	
  	
  	
  	
  	
   25a2 	
  
	
  

	
  
	
  
	
  	
  3)	
  	
  	
  	
  	
  If	
  a	
  =	
  -­‐2	
  find	
  the	
  value	
  of	
  3a2	
  	
  
	
  

	
  
	
  

	
  	
  4)	
  	
  	
  	
  	
  Find	
  the	
  value	
  of	
  14×60
35

	
  
	
  

	
  

	
  
	
  	
  5)	
  	
  	
  	
  	
  What	
  is	
  the	
  complement	
  of	
  65°?	
  
	
  

	
  
	
  
	
  	
  6)	
  	
  	
  	
  	
  Jack	
  earns	
  $22.75	
  an	
  hour.	
  How	
  much	
  does	
  he	
  earn	
  in	
  8	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  hours?	
  
	
  

	
  

	
  
	
  	
  7)	
  	
  	
  	
  	
  a	
  =	
  6	
  and	
  b	
  =	
  4,	
  find	
  the	
  value	
  of	
  (a	
  –	
  2b)2	
  
	
  

	
  
	
  
	
  	
  8)	
  	
  	
  	
  	
  Write	
  7.3	
  x	
  106	
  as	
  an	
  ordinary	
  decimal	
  	
  
	
  

	
  
	
  
	
  	
  9)	
  	
  	
  	
  	
  Simplify	
  12a	
  –	
  7a	
  –	
  3a	
  –	
  a	
  
	
  

	
  
	
  
10)	
  	
  	
  	
  Jill	
  gets	
  17	
  out	
  of	
  25	
  in	
  her	
  Maths	
  Test.	
  What	
  percentage	
  is	
  	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  this?	
  
	
  

	
  

	
  


